
Introduction to Problem
• Sometime photons that hit BCAL lie nearly right on 

top of one another
oHere: a 𝜋0 particle decays to two photons (𝛾1 and 𝛾2)

oBoth about at 4 O’Clock
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First Approach

• Maybe the BCAL showers contain enough info to 
guess already?
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MC Sample

• 𝜋0 gun:
o1-7 GeV

o15-35° in 𝜃

• 𝛾 gun
o13-38° in 𝜃

o0-8 GeV

• Require no upstream pair conversion
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ROC Curve From TMVA
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Next Steps

• Switch to FCAL, study:
o𝜂 → 3𝜋0 (first in MC)

• If results promising, worth pursuing?

• Considerations:
oCalibration sensitivity?

oOther topologies?

o Trainable from data, then verify on MC?
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